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5.5.3
50b (8™ w2 891) B 52b (775 NOWA)

Note #1: the prohibition of 1700 (attempting to transfer the 7w177 of one 2777 onto another animal) notwithstanding, the jargon
generally employed vis-a-vis 7707 is one of effectiveness; i.e. if the 77101 is effective, that means that the 1pn’s intention and
words are meaningful. Only an owner of the ;377 has that ability — and a 713y 1297 is not liable for 770m, as well as any 7377
with multiple owners

Note #2: although the 7711 mandates one jnow for the 53:, nnsw adorned the 53771 with 10 additional tables, which were placed
on the north side of the 53771. These were either placed on a N-S axis (in which case there would be little room between the end of
the table and the wall) or on an E-W axis (in which case there would be ample room there).

Note #3: the 771 790 includes only consonants, not (many) vowels and no punctuation. Therefore, it is possible to have a verse
which, when parsed one way has one meaning and when parsed differently, changes meaning. These verses are called
Y1271 a5 pRY mnIpn and are presented at the end of today’s 82np.
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I.  Analyzing 8"’s question about the effect of making a n71n on the 3”7y 78 — according to 7”1 it’s a N’ 127p
a. If: we follow the w*pn (3" — individual), should be valid; if the 19301 (°303), should be invalid:
b.  pnv *7's rule: (should be simple — we follow 19311 and not liable for n11nn)
i. Re: nYyn, the w*1pn is considered the owner (only he pays a 1/5 fine)
ii. Re: nmnn, the 793m0 is considered the owner (only s/he can effect nmnn)
iii. (re:nmnn, taking NN on behalf of another’s crop entitles the ‘taker’ to determine the 1)
c.  N™s question: are the 03 the principal 119301 or are they “floating atop” the 1193 of the 3”3
d. Formula: mar v. nmnn (strengths of each)
i. 7ar applies to Max as well as T, “trumps” NRMYY N2 and can generate a NN
ii. /7790 can take effect on a »12p DI YY1 & can never be fully redeemed (for work — only eating)
iii. Analysis: the nar must be a 1’ 1299 which is nrnVY Naw nM7 (else it doesn’t fit the “advantages™)
1. Implication: 3"n2 99 can generate NnN
2. Rejection (@ "7): 10K YW 1PR (NHIY)
a.  Since: 2"nY 19 is a NRVN — NN NRVN NINN!
3. Defense: > "nnn” is generic (i.e. some m'nar have the power to generate n1nn)
4. Challenge: perhaps nar is generic (i.e. some n’'nar are brought on naw, some create nnn)
a. Defense: narisn’t used generically — in our Xn»13, “doesn’t take effect on a
51 »1ap o ”; but 7wy M1 are YN on a Y1ap DN YY1 > must be specific nar
iv.  Question (nww "): why doesn’t he consider the nar to be noa ("N MY ARMVY N2V IMT)
1. Answer: he holds like nT1> "3 — P YY NLAN NR POYMY PR (= no NINN)
2. Alternative: consider 1w noa
a. Answer: he holds that 2w noa isn’t nrnmv M7
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v. Question (asked of #37): why is noa — which is brought by multitudes — *1n> 129p” and nn a 129p”
"M2ax? (in Mwn in nMnn, quoted above)
1. Answer: v noa doesn’t come in large groups
2. Challenge: if so, it should be nrnVY Naw NMT
3. #37indeed, like N’ "3 who holds that it does (v. 1)
a. p’m only allows it to trump naw — it comes due to NkMY, won't trump NRMY
b. »”: the nn did everything possible to enable it; if not doable n1nv1, do NkmMYV2
e.  Solution to N”'s question: v. 2 (1% TWR) — must come at 3"n2’s own expense
i. Answer: since all 0’103 achieve 1193, must have a share (given by 'n) >perhaps applies to nnn
II. 28 mwn: »"na’s progress:
a. p’m to the nnR between the 2 mona dividing the wTp from the p"nTp
i 9779 2 M9 in MW N2 to mark off area of PPV NNIR from PWRI N2 — unclear if it was WP
b. oy ronly 1 noma (v. 3)
III. Path of entrance
a. 7M1 between nam and N (i.e. southern side of 93'n) —2 M9, outer one on south side
b. »”: between nam and nYw (i.e. northern side of Y3'n)
i. Tables: are on N-S axis — no room to walk between tables and wall (see note #2) OR
ii. Tables: are on E-W axis — against protocol to walk straight in
c.  oamn v (oor ’7): between northern wall and in5w (he only allows for 1 nov18 which is anchored on N)
i.  Contra: n": n"apn loves H&87v’ 0y so much that He doesn’t require such distance
ii. /777 71 should require walking around — but the Tan »ma will blacken from the n1n
IV. pporvo nnr: 1M "v's question —is it like Y20 or p”nTp
a. Confusion: due to vv. 4,5,6
b.  Challenge:perhaps Ppoiv nnR isn’t reckoned with space, only walls
c.  Rather: question is whether it has Y2'n nwvYTp or P"NTP NVITP
i.  Following: Y210 WX 0V (=N’ 12 Y0’R)’s query re: parsing of v. 7: (see note #3)
1. Is the 7727 (=divider before the 71727 [=p”n1p]) on the inside (p"Tp) or outside
ii. Challenge: nmn 12 *o’R only listed 5 verses with equivocal parsing (vv. 8-12)
1. Defense: only listed 5 in wmn, there are (many) others in o'x2)
2. Challenge: X1ON "1 questioned the parsing of v. 13 (nmn):
a. Are the: pnar some other animal (sheep) and the on%w — "nmMa”? OR
b.  Are both: mn%w) nnar brought from oa?
3. Answer: RTON "1 was unsure — 1T’ 11 YO’ was sure
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